] FURUNGO

Box 1 - DS800

Part No.

DS800

100-183-181
100-173-273
000-804-799
000-862-127
000-863-306
100-183-190
000-864-260
000-802-840
10 000-107-268
11 000-139-384
12 000-142-658

©oO~NOOULDA WNPEP

Box 2 - DS801

Part No.
1 DS801

Box 3 - DS810

Part No.
DS810
000-549-019
000-802-085
000-536-716

A WDNPEP

Box 4 - DS80INST

Part No.
DS802

IME-724-70Z
000-802-082
000-107-268
000-536-716
000-549-021
000-114-805
000-802-085
10 000-107-268
11 000-536-716

©oO~NOOULDA WN PP

Box 5 Transducer

Part No.
1 DS820-10

OME-724-70Z

PACKING LIST FOR DS80

Wt: 4 Ibs. Dim: 15" x 10" x 8"

Description Quantity
LCD Display Unit 1
Mounting Bracket 1
Mounting Knob 1
Wing Screw M4 x 30 4
Hex Bolt Slotted Head M6 x 12 2
Wing Nut M4 4
Flush Mount Fixing Plate 2
Spring Washer M6 2
Tapping Screw M5 x 20 4
Crimp Lug FV0.5-4 20
Multi Cable Assembly 2M 1
Cable 6551231-0 2M 1

Wt: 351bs. Dim: 24" x 20" x 12"

Description Quantity
Distribution Box 1

Wt: 21 Ibs. Dim: 21" x 17" x 10"

Description Quantity
Tranceiver Unit 1
Fuse FGBO 1A 2
Tapping Screw M6 x 30 4
Crimp Lug FV2-M4 20

Wt: 7 Ibs. Dim: 15" x 14" x 10"

Description Quantity
Terminal Box 1
Operator's Manual 1
Installation Manual 1
Tapping Screw M5 x 25 4
Lug Crimp FV035-4 20
Lug Crimp FV2-M4 30
Fuse FGBO 3A 2
Fuse FGMB 1A 2
Tapping Screw M6 x 30 4
Crimp Lug FV0.5-4 20
Crimp Lug FV2-M4 80

Wt: 10 Ibs. Dim: 15" x 14" x 10"

Description Quantity
Transducer w/ 10M Cable 1

Page 1 of 2

For Internal Use Only

Serial No. 2210-

Checked By:
Tech

Date

DS800

Yes Remarks

attached

DS801

Yes Remarks

220VAC Default

DS810

Yes Remarks

sub 002-888-450

sub 002-888-470

DS80INST

Yes Remarks

sub 002-888-480

sub 002-888-440

sub 002-889-730

sub 002-888-460

DS820-10

Yes Remarks




] FURUNGO

PACKING LIST FOR DS80

Box 6 - DS784 Wt: 14 Ibs. Dim: 14" x 11" x 9"
Part No. Description Quantity

1 002-872-580 Transducer Tank, Steel Flush Mount 1

2 000-801-328 Kinoruster 1

Page 2 of 2

For Internal Use Only

Serial No. 2210-

Checked By:
Tech
Date
DS784
Yes Remarks

sub 002-888-500




